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0. In Bolivian Guarani' there are four
tense markers, each occurring on a different
level of the hierarchical structuring of the
verb and verb phrase. The habitual tense
morpheme is a suffix occurring within the
verb stem on the derivational level. The
past tense morpheme is a suffix occurring
within the verb on the inflectional level. The
future tense morpheme is an enclitic oc-
curring on the verb phrase level. The con-
tinuative is a word oceurring on the complex
verb phrase level.

In this paper the distribution of the tense
markers is presented along with a back-
ground study of the structure of the verb
phrase.

1. There are two classes of verb bases:

1 Bolivian Guarani is spoken by 15,000 Indians
living mainly between the Grande and Pilecomayo
Rivers in the south-eastern part of Bolivia, South
America. There are three main dialect areas. The
linguistic data on which this paper is based were
gathered during a residence of a year and a half,
between October 1957 and March 1960, in a village
located in the geographically central dialect area.

Bolivian Guarani is a member of the Tupi-
Guarani language family. Comparison of lexicon
by Sarah Gudschinsky of the Summer Institute of
Linguistics indicates that the dialect of Guarani
which is the subject of this paper is more widely
divergent from the Guarani which is spoken in
Paraguay than is Portuguese from Spanish.

This paper was written during the 1960 Linguis-
tic Workshop at Summer Institute of Linguistics,
University of Oklahoma, Norman. The writer
wishes to express his thanks to Viola Waterhouse
for her many helpful suggestions concerning the
presentation of the material.

transitive and intransitive. Transitive base
occurs as head of transitive verbs. Intransi-
tive base occurs as head of intransitive verbs.

Transitive and intransitive verbs are dif-
ferentiated by internal and external distri-
bution. Internally they differ (1) in the class
which occupies the head slot (except for a
very small sub-class of roots which are
members of both classes), (2) in that transi-
tive person prefixes have double semantic
components of subject and object whereas
intransitive person prefixes have a single
semantic component of subject, and (3) in
that certain person prefixes occur only with
transitives, others only with intransitives.
Externally, transitive verbs occur in transi-
tive clauses, which have optional object,
whereas intransitive verbs occur in intransi-
tive clauses, which never contain object.

A verb base may be comprised of: in
minimum form, a root. -fiuka? kill, ofiuka he
killed him; -g™ata walk, og¥ata he walks/
walked,®* in non-minimum form, (1) a stem:
-ngmipoka {wist ear (-nami ear, -poka ftwist),
oinamipoka he twisted his ear, (2) a total
base (consisting of root or stem + prefix Pr
I, prefix Pr II and Su I occurring singly or
in combination): -fiefiuka kill oneself (-iie-
reflexive), ofiefiuka he killed himself; -fienami-
poka fwist one’s own ear, oiiefigmipoka he

? The following are the tentative phonemes of
Guarani:p, t, k, ?,g".s,h,8, ¢, m,n, A, n, ¥, i, e,
a,0,u,1,1, e, 8, 0,4, ]. When m, n, ii, ) oceur be-
fore non-nasal vowels they are phonetically mb,
nd, J, ng. Stress usually occurs on the penultimate
syllable of the word except when the final syllable
contains a diphthong, in which case stress occurs
on it. Otherwise stress is marked v.

3 The form og™ata means either he walked or he
walks. That is, the tense of a verb when no tense
marker occurs is neither only past nor only pres-
ent: it is non-future. When, however, a verb is
imperative, its tense is inherently future and none
of the tense markers occur with it.
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twisted his own car, -ftukauka cause someone
to kill someone (-uka causative), ofiukauka
he caused (him) to kill him.

The stem is obtained by derivation; the
total base by inflection with or without
derivation. Thus a minimum stem, a root, is
a minimum verb base; a non-minimum stem
is a derived verb base; a total base is an
inflected verb base. The obligatory inflec-
tional person prefix occurs prefixed to the
verb base; the optional past tense suffix (Su
IT) may occur suffixed to the verb base.
Thus verb = person prefix + verb base =%
Su II. Minimum verb base: -fieapa be folded,
ofieapa 1t 7s folded. Derived verb base: -fiea-
pafiefe roll over (-fiefe go around), ofieapa-
fiefe he rolled over. Inflected verb base:
-mofieapafere cause to roll over (-mo- causa-
live), gmoneapafefe he rolled it over.

1.1. Stems are derived from roots in nine
ways. In one of these the habitual tense
suffix -se occurs with an intransitive verb
root to form an intransitive stem. -g“atase
habitually wall (-g¥ata walk), ig¥atase he
habitually walks. -se may also occur with an
intransitive total base to form a complex
intransitive stem (complex in having more
than two morphemes), in which case a
higher level structure (a total base) occurs
within a lower level structure (a stem), just
as, in syntactic analysis, it is possible for a
clause to occur within a phrase. -fiemogkjse
habitually wet oneself (speaking of a child)
(-fie-4 reflexive, -mo- causative, -gki be wet),
jiiemoakise he habitually wets himself.

Other types of stem derivation are:

4 All prefixes have phonologically conditioned
allomorphs: an allomorph containing nasal vowel
occurs preceding a verb base of which the first
syllable is nasal; one with oral vowel occurs pre-
ceding a verb base of which the first syllable is
non-nasal (a syllable is nasal if it begins with
nasal consonant or contains nasal vowel). For
simplicity, in the morpheme breakdowns (within
parenthesis) and in listing the prefixes, only the
allomorph with oral vowel is written. Person
prefixes of sets Ia, Ib, A, B which terminate in
-0- have phonologically conditioned allomorphs
occurring before verb bases which begin with
-f- and -n-. For simplicity these are not listed.
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(1) Verb root 4 verb root -neapaneie roll
over (-fieapa be folded, -fiefe go around
-kafupoi finish eating (-kafu eat, -poi let go).

(2) Noun root + verb root -ngmipoka
twist ear (-ngmi ear, -poka lwist); -fufupite
kiss (-fiufu mouth, -pite suck).

(3) Morpheme -mo- + Spanish verb.’
-mokueta cost (Sp. cuesta it costs); -monana
earn (Sp. gana he earns).

(4) Reduplication -poBapoBa spin from
time to time (-poBy spin); -g¥atag™ata walk
to and fro (-g™ata walk).

(5) Inflectional prefix 4+ noun® -foapi
Join together (-io- 4 -api, ifapi is end);
-moapi come to the end (-mo- -+ -api).

(6) Possessed noun -¢ekise my knife (fe-
my kise knife) tadekise I shall have a knife;
-teike my side (Ee- my -ike side) tadeike [
wnll turn on my side.

(7) Noun -kuimae (kuimae man) ikuimae
(fiae) he 1s (very) manly.

(8) Morpheme -mae- + verb’ -maefasi
be sick (-asi hurt).

1.2, Transitive roots and stems are sub-
classified according to the sets of person
prefixes with which they occur. Transitive
roots and stems of subelass 1 (TS1) occur
with person prefix sets Ia and Ib: ofiuka(o-
+-fiuka) he killed him. Transitive roots
and stems of subclass 2 (T'S2) occur with
person prefix sets ITa and IIb: ojnuypy (oi-
+ -nupg) he hit him.

Intransitive roots and stems are sub-
classified according to the sets of person

® Some Spanish roots are borrowed directly:
-kosina cook, but the majority oceur with -mo- pre-
fix. -mo- is the morpheme which usually signifies
CAUSATIVE, occurring as an inflectional prefix.
When occurring as a derivational prefix with a
Spanish root it does not have causative meaning.

¢ Types (5) (6) and (7) occur rarely. Types (6)
(7) and the stems which include the habitual tense
suffix do not oceur with inflectional affixes.

7 This is the unique example of derivation type
(8). The morpheme -mae- usually oceurs as an
inflectional prefix with meaning non-human object
generalizer. As such it occurs with a transitive verb
base resulting in an intransitive. In type (8) it
occurs with an intransitive verb base resulting
in an intransitive.
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prefixes with which they occur. Intransitive
roots and stems of subclass 1 (IS1) occur
with person prefix sets Ia and Ib: og®ata
(o- + -g¥ata) he walked. Intransitive roots
and stems of subelass 2 (IS2) oceur with
person prefix sets I1a and IIb: oikoge (oi- +
-kope) he awoke. Intransitive roots and stems
of subclass 3 (IS3) occur with person prefix
sets I11a and IIIb: ipifu (i- + -pifu) he is
thin.

Transitive verbs may be further cross-
classified according to whether or not they
can occur with a human object. -aiu love

occurs with & human object; -putuka wash

(clothes) does not. Verb bases occurring in
the head slot of human object transitive
verbs may occur with person prefix sets A
and B.

Both transitive and intransitive roots and
stems may occur as nuclei of transitive and
intransitive verbs. Both prefixes and suffixes
may occur with the roots and stems (with
exceptions noted in footnote 6), resulting in
transitive and intransitive verb bases. The
verb bases together with the obligatory per-
son prefix result in transitive and intransitive
verbs.

Lists 1 and 2 show the inflectional affix
systems of transitive and intransitive verbs.
The past tense marker occurs as unique
member of suffix order II in each of the
formulas.

List 1. Transitive Verb: 1. +P pre(a)
=+ (+PrII: Causl +PrI: Mod) +8Stem: TS1,
Sul: Caus2, Sull: Past; 2. +P pre (b)/[+P
pre(a) —+(+4PrIl: Causl +PrI: Mod)]
+Stem: TS2, Sul: Caus2, Sull: Past; 3.
+P pre(a) +Prl: Causl/Com +Stem:IS,
Sul: Caus2, Sull: Past.

List 2. Intransitive Verb: 1. +P pre(al)
+*(+Prll: Mod + Prl: Causl) +Stem:
IS1, Sul: Caus2*, Sull: Past; 2. 4P pre(b1)/
[+P pre(al) + (+PrIl: Mod 4 Prl: Causl)]*
+Stem: IS2, Sul: Caus2*, Sull: Past; 3. +P
pre(c)/[+P pre(al) +(+PrIl: Mod + Prl:
Causl)]* +Stem: IS3, Sul: Caus2*, Sull:
Past; 4. +P pre(al) +Mod +T8, Sul:
Caus2, Sull: Past.
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Explanation of lists: 4+ signifies obligatory
occurrence; == signifies optional occur-
rence; , signifies order of occurrence. The
formulas are a mixture of occurrence and
order types. As far as, and including, the
stem slot they are occurrence formulas;
after the stem slot (suffix sections of the
formulas) they are order formulas. This is
because all orders of prefixes oceur with the
stem, but not all orders of prefixes and
suffixes. Both orders of suffix occur op-
tionally.

TS = transitive root or stem; [S = intran-
sitive root or stem; P pre = person prefix;
Causl = causative prefix; Mod = modal
prefix; Com = comitative prefix; Caus2 =
causative suffix; Past = past tense suffix; /
signifies either/or; the asterisks after Caus2
and the 4+ of =+ in formula 1 of list 2 indi-
cates that Caus2 occurs only if the contents
of the parenthesis occur. Similarly in formu-
las 2 and 3 of list 2, Caus2 occurs only if

_the second alternative of the either/or oc-

eurs.

Formulas 1 and 2 of list 1 show transitive
stems as nuclei of transitive verb base.
Transitive verb base may consist of either
transitive stem or transitive stem with two
prefixes, Causative 1 and Modal (together
with possible occurrence of Causative 2).
With stem class TS1 member as nucleus,
the person prefix occurring with the base is
P pre(a). With stem class TS2 member as
nucleus, when Causative 1 and Modal occur,
P pre(a) occurs; when Causative 1 and
Modal do not occur, P pre(b) occurs.

Formula 3 of list 1 shows intransitive
stem as nucleus of transitive verb base.
Transitive verb base consists of intransitive
stem with obligatory prefix Causative 1 or
Comitative (together with possible occur-
rence of Causative 2 and occurs with person
prefix P pre(a)).

Formulas 1, 2 and 3 of list 2 show intransi-
tive stems as nuclei of intransitive verb
base. Intransitive verb base may consist of
either intransitive stem or intransitive stem
with two prefixes, Modal and Causative 1
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(together with optional suffixes, Causative
2 and Past). With stem class IS1 member as
nucleus, the person prefix occurring with the
base is P pre(al). With stem class IS2 mem-
ber as nucleus, when Modal and Causative 1
occeur, P pre(al) occurs; when Modal and
Causative 1 do not occur, P pre(bl) occurs.
With stem class IS3 member as nucleus,
when Modal and Causative 1 occur, P
pre(al) occurs; when Modal and Causative 1
do not occur, P pre(c) occurs.

Formula 4 of list 2 shows transitive stem
as nucleus of intransitive verb base. Intran-
sitive verb base consists of transitive stem
with obligatory prefix Modal (together with
possible occurrence of Causative 2), and
occurs with person prefix P pre(al).

Person prefixes P pre(a) include person
prefix sets Ia, Ib, A, B (A and B restricted
to human object verbs). Person pre-
fixes P pre(b) include person prefix sets
IIa, IIb, A, B. Person prefixes P pre(al)
include person prefix sets Ia, Ib. Person
prefixes P pre(bl) include person prefix sets
Ila, IIb. Person prefixes P pre(c) include
person prefix sets IIla, IITb. All sets con-
taining a/A have INDICATIVE meaning; all
sets containing b/B have SUBJUNCTIVE
meaning. :

In the following lists of person prefix sets,
the meanings of the prefixes when they
occur with transitive verb base are listed
preceding diagonal (/) (subject meaning pre-
cedes hyphen (-), object meaning follows
hyphen); when they occur with intransitive
verb base they are listed following diagonal.
Prefix sets IIIa and IIIb occur only with
intransitive verb base of type 3 and therefore
have only subject meanings. Prefix sets A
and B occur only with transitive verb base
and therefore have only subject-object
meanings. 1, 2, 3 = first, second, third
person; s = singular; p = plural;i = inclu-
sive; e = exclusive.

Person prefix set Ia includes: a- 1s-3/1s,
fe- 2s-3/2s, fia- I1pi-3/1pi, fo- 1pe-3/1pe, pe-
2p-3/2p, o- 3-3/3.
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Person prefix set Ib3 includes: ta- 1s-3/1s,
e- 2s-3/2s, fia- 1pi-3/1pi, tofo, Ipe-3/1pe,
pe- 2p-3/2p, to- 3-3/3.

Person prefix sets IIa and IIb are the
same forms as sets Ia and Ib with the addi-
tion of -i-: ai- 1s-3/1s, fei- 25-3/2s, etc. It
does not seem possible to assign any meaning
to the -i-.

Person prefix set IIla® includes: &e- Is,
ne- Zs, figne- I1pi, ofe- 1pe, pe- 2p, i- 8.

Person prefix set IIIb includes: tae- Is,
ne- 2s, figne- 1pi, ofe- 1pe, pe- 2p, ti- 3.

Person prefix set A includes: ée- 2,3-1s,
fo- 1-2s, ne- 3-2s, fiane- 3-1pt, ofe- 2,3-1pe,
pe- 3-2p.

Person prefix set B includes: &e- 2-1s,
tade- 3-1s, tofo- 1-2s, tane- 3-2s, tifigne-
3-1pt, ofe- 2-1pe, tofe- 3-1 pe, topo- 1-2p,
tape- 3-2p.

The inflectional prefixes and suffixes which
occur with the root or stem are now dis-
cussed.

Within the verb base each added order of
prefix causes a change from transitive to
intransitive or from intransitive to transi-
tive. Thus transitive verb bases result from
either transitive stem + two prefixes or
intransitive stem -+ one prefix. Intransitive
verb bases result from either intransitive
stem -+ two prefixes or transitive stem -+
one prefix. Person prefix and suffixes do not
cause a change in transitivity. -kafu eat,
okafu (P pre + -kafu) he afe (intransitive),
omonaiu (P pre +Causl + -pafu) he fed him
(transitive), onemopafu (P pre +Mod

8 In the majority of the subjunctive person
prefixes there occurs an apparent t-/tV- (the
allo-forms being phonologically conditioned)
addition to the indicative person prefixes. It does
not, however, seem possible to assign to this
phenomenon morphemic status, i.e. morpheme
meaning SUBJUNCTIVE, since in some cases there
is no difference between subjunctive and indica-
tive prefixes, and in the case of the subjunctive
second singular person (e-) sUBJUNCTIVE would be
marked by a subtractive morpheme.

® The members of person prefix sets IITa and
I1Ib have morphologically conditioned allomorphs,
but not being pertinent to this paper their
description has been omitted.
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+Causl + -nafu) he fed himself (intransi-
tive); -mo?e teach, omo?e (P pre + -mo?e)
he taught him (transitive), ofiemo?e (P pre
+Mod + -mo?e) he learned (intransitive),
omofiemo?e (P pre +Causl +Mod 4
-mo?®e) he caused him lo learn (transitive).

Lists 1 and 2 show that prefix order I
(PrI) occurring with transitive stems is the
same as prefix order II occurring with in-
transitive stems, and vice versa.

Prefix order I occurring with transitive
stem or base resulting in an intransitive
verb base as in list 2, formula 4, contains
four members:

-fie- passive/reflexive: onefiuka (o-nie-fiuka)
he killed himself; ofieputuka (o-fie-putuka)
i 1s washed; ofiefiukauka (o-fie-fiuka-uka)
he was killed (by him).

-fio- reciprocate: ofioiiuka (o-fio-fiuka) they
killed one another.

-pofo- human object generalizer: opofonuka
(o-pofo-fiuka) he kills (humans), ke is a
killer.

-mae- non-human object generalizer: gmae-
fiuka (o-mae-fiuka) he kills (non-humans),
he is a butcher or hunter.

Prefix order I occurring with intransitive
stem resulting in a transitive verb base as
in list 1, formula 3, contains two members:

-mo- causative: omog®ata (o-mo-g*ata) he
caused him to walk.

-fo- comilative: g™itésii (g™i-Fo-cil) he ran
along with him.

Examples showing occurrence of inflec-
tional prefixes in other formulas of lists 1
and 2 follow. List 1, formula 1: gmomaepu-
tuka (o-mo-mae-putuka) she caused her to
wash clothes. List 1, formula 2: gmofienupa
(o-mo-fie-nupa) he caused him to hil himself.
List 2, formula 1: ofiemoifiao (o-fie-mo-fiao)
they are separaled. List 2, formula 2: ofie-
moinofe (o-fie-moi-nofe) he wakened him-
self up. List 2, formula 3: ofiemoaki (o-fie-
mo-gki) he wel himself.

Suffix order I contains one member: -uka
causalive: ofiukauka (o-fiuka-uka) he caused
(him) to kill him; omonofiukauka (o-mo-fo-
fiuka-uka) he caused them to kill one another.

DIFFERENT-LEVEL TENSE MARKERS IN GUARANf

349

Suffix order II contains one member: -se
past tense: og¥atase (o-g“ata-se) he wsed fo
walk.

Causl vs. Caus2: The essential difference
between the causative prefix and the causa-
tive suffix is that the prefix occurs with
intransitive stem, the resulting verb base
being transitive; the suffix occurs with
transitive stem, the resulting verb base re-
maining transitive. og®ata (o-g®ata) e
walked, omog*ata (o-mo-g¥ata) he caused
him to walk (him is object); ofiuka (o-fiuka)
he killed him, ofiukauka (o-fiuka-uka) he
caused (him) to kill him (the final him is
object).

-se habifual tense vs.-se past tense: That
these differ structurally, occurring at differ-
ent levels of analysis within the verb, may
be seen by considering the immediate constit-
uent analysis of the two verbs ig¥atase
he habitually walks (he is a walker), and og™-
atase he used to walk. og¥atase = og¥ata he

walks + optional -se past tense, ogata =

0- he 4+ -gTata walk; igratase = i- he +
-gratase habitually walk, gvatase = g¥ata
walk + -se habitual tense. (*ig¥ata does not
oceur),

2. The verb phrase consists of nucleus +
satellites. The nucleus slot is filled by the
verb. Satellite slots are filled by: (1) Pre-
peripherals, which are free words; (2) Periph-
erals I, which are free words; (3) Enclitics
which are phonologically joined to the words
which they follow; (4) Peripherals II, which
are free words.

The future tense marker is an enclitic.

The habitual, past, and future tense
markers may be illustrated by their occur-

_rence with the verb root -pafanu ask ques-

tions: ipafanuse he habitually asks questions,
opafanuse he used to ask quesiions, pparanu-
ta he will ask questions.

The pre-peripherals always precede the
verb, and include three members, each of
which expresses some measure of negativity:
maeti/ag*ifie/nafaa negative, afete almost,
g~flamoj perhaps. Maeti is the non-future
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negative; ag*ifie the imperative negative;
nafaa the future negative. maeti aha I did
not go, ag®ifie ecua do not go, nataa ahi I will
not go; anete o”a he almost fell; g™ifamoj
ahata perhaps I will go.

There are five orders of peripherals I
(listed in usual order of occurrence): 1,
Intensifier; 2, Mode; 3, Plural; 4, Iterative;
5, Frustrative.

Peripherals I order 1 contains several
members all with similar meaning: fiae, ete,
katu, asi, g*asu very or much. The particular
member of the intensifier class which occurs
depends on the verb with which it occurs,
the choice apparently being arbitrary. For
extra intensity, however, two or three of the
intensifier morphemes may occur together.
oipota fae he wanfed it much, oki ete it
rained heavily, iimiai fiae ete katu he was very
very very hungry.

Peripherals I order 2 contains several
members: g®ifae quickly, Boi immediately,
sefl almost, Faifi suddenly fiari secretly. oasa
g*itae he passed by quickly, oho Boi he went
immediately, oki sefi it almost rained.

Peripherals 1 order 3 contains a single
member Feta plural. og¥ata feta they walked.

Peripherals 1 order 4 contains a single
member fie again. oho fie he went again.

Peripherals I order 5 contains a single
member tej in vain. oho tel he went in vain
(that is, he did not accomplish that for
which he went).

Examples of combinations® of peripherals
I are: 1 + 2, ofiae?o fiao Boi she cried a lot
immedialely; 1 + 3, ginypg fiae feta they hat
him a lot; 1 + 5, oipota fiae tej she wanted it
a lot invain; 2 + 3, o?a sefi feta they almost
fell; 2 4 4, oki faifi fie it rained again
suddenly.

There are five orders of enclitics (listed in

10 Many combinations of peripherals and encli-
tics occur, the only apparent restrictions being
semantics and length. The maximum number
which have been found to occur together within a
verb phrase in texts of stories and general conver-
sation is four. The orders were determined by the
criteria of relative order of occurrence, mutual
exclusivity, and semantic similarity.
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usual order of occurrence):* I, Exclusivizer;
II, Limiter; III, Future; IV, Determinative;
V, Negative.

Enclitic order I contains a single member
-i- exclusivizer. This occurs only if enclitic
order II occurs, though order II can occur
without order I. og®ata-ifip (o-g*ata -i- -fig)
he just walks (that is, he does not work, go
anywhere, nor visit, etc.)

Enclitic order II contains a single member
-fig limiter. og™ata-fio (o-g~ata -fiQ) he just
walks (that is, he may have been sick and
cannot yet run, nor jump, ete.)

Enclitic order III contains a single mem-
ber -ta future. oho-ta (o-ho -ta) he unll go.

Enclitic order IV contains a single member
-1 determinative. oipota-i (oi-pota -i) it defi-
nitely wanted to.

Enclitic order V contains two forms of the
negative enclitic -?g, n- --i. The second form
is a morpheme the two parts of which are
discontinuous; the n- is preposed to the verb
and the --i is enclitic. oipota-?a (oi-pota
-?3)/noipéta-i (n-oi-pota --i) he did not want
tO.H

Examples of combinations of enclitics are:
II + III, aha-fig-ta (a-ha -fig -ta) I will just
go; IT 4+ IV, og™ata-fig-j (o-g™ata -iig -i) he
purposely walks (that is, it is his job to walk),
or he walks notwithstanding (that is, even
though something may tend to prevent him)
(Cf. og™ata-ifip above); III 4 IV, oho-ta-i
(0-ho -ta -i) he will go notwithstanding; I11 4
V, notohé-ta-i (no-fo-ho -ta --1) we will not
go; I + II <+ III, og™api-ifig-ta (o-g™api -i-
-ig -ta) he will just sit; II + IIT 4 IV,
ag¥ata-no-ta-i (a-g®ata -fig -ta -1) I wall
walk notwithstanding; IT + IV + III, oki-

11 Shift of stress shows these to be enclitic. ého,
ohé-ta; ogvita, ogvatd-iig, ogvatd-ig; oipdta,
oipotd-i. The negative n- --i does not cause shift of
stress but --i always unites with the preceding
vowel resulting in a diphthong.

Enclitics usually follow peripherals I and pre-
cede peripherals II.

12 Non-future negative, therefore, may be mani-
fested in one of three ways: (1) Enclitic -?7g (2)
Discontinuous enclitic n- --i (3) pre-peripheral
maeti.
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ng-j-ta (o-ki -ng -1 -ta) it will definitely (or
continuously) rain; I1 + III + IV + V,
oipofafa-fip-ta-i-?g (oi-pofafa -fig -ta -i -73)
(pa) should he not definitely just have suffered

There are five orders of peripherals II
(listed in usual order of occurrence): A,
Temporal; B, Additive; C, Attitude; O,
Probability; E, Manner.

Peripherals II order A contains three
members: mg already, fanj first, famo re-
cently. oho ma he went already, akafu fanj I
ate first (that is, before doing something
else), afiu famo I came recently.

Peripherals IT order B contains a single
member 8i also. ohi 8i ke went also.

Peripherals II order C contains three
members: ko definitely, nipo perhaps, fiepe
even. oha-ta ko he will definitely go, oho-ta
nipo he will perhaps go, oinupa fiepe he hit
her even.

Peripherals II order D contains a single
member aipo probably. This usually occurs
in combination with one of the members of
peripherals II order C, ko or nipo. oho nipo
aipo he perhaps probably went.

Peripherals II order E contains several
members: heta much, tatg hard, tuita largely.
oinupg heta he hit her much, og™api tata she
sat hard (on the horse), oki-ta tuida i will
rain in a big way.

Examples of combinations of peripherals
II are: A + B, oho mg 8i he also has already
gone; A + C, okaru fanj nipo perhaps he ate
first; A + E, oinypa ma heta he has already
hit her a lot; C + D, oho nipo aipo he perhaps
probably went; A + C 4+ D, oho mg ko
aipo he has already definitely probably gone;
A 4+ C 4+ D + E, ¢ginupg mg ko aipo heta
he has already definitely probably beaten her a
lot.

Examples of combinations of peripherals I
and peripherals II are: 1 + A, éefijmiail fiae
ma I am already very hungry; 2 + A, oki sefi
mg 1 already almost rained; 3 + A, fimiai
feta ma they are already hungry; 4 4+ A, ou
fie mg he already returned; 2 + A + C, ipu
sefi ma ko (oi kampana) (the bell is) defi-
nitely already almost ringing; 3 + 4 + A,
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okafu feta nc ma they are already ealing
again; 2 + A + C + D, oiii sefi mg co aipo
it is definitely probably almost already cooked;
44+ A 4 C + D, ou fic mg co apio he has
definitely probably already returned.

Examples of combinations of peripherals I
and enclitics are: 1 + III, ofiae?o fiae-ta she
will ery a lot; 2 + 111, aha giafi-ta I will go
secretly; 3 + 111, ofiapo Feta-ta they will do ¢;
4 4 III, ou fie-ta he wnll return; 2 + II,
ofiapo Siafi-fio he just did it secretly; 111 4 5,
oho-ta tej he would have gone (contrary-to-
fact sentence); 5 + IT1 oho tej-ta ke will go in
varn (that is, he will not accomplish his
purpose).

Examples of combinations of enclitics and
peripherals IT are: II1 + A, aha-ta mg 7 well
just now go; 111 + B, aha-ta 8i I wnll go also;
IIT + C, aha-ta ko I will definitely go; 11T +
E, oinupa-ta heta he will hit her a lot; V +
E/E + V, nog¥ipi-i t4ta/nog™api tita-] she
did not sit hard (on the horse).

Peripherals II often occur preceding the

" verb, in which case some other word often

occurs between the peripheral(s) and the
verb, thus making the verb phrase discon-
tinuous. heta nafie okaiu (K + reportative
+ verb) much, it is said, he ate. Discontinu-
ity of the verb phrase, when the verb occurs
first, is possible, but not usual. The only
case observed is when both plural (3) and
referent word (equivalent to indirect object)
occur. osaptikai ¢upe Feta (verb + referent
+ 3) they called to him.

Pre-peripherals precede peripherals which
occur hefore the verb. maeti heta ou (nega-
tive + E -+ verb) not many came.

When more than one order of peripherals
II precede the verb, they do so in reverse
order (with the exception of ko aipo). aipo
nipo ho?u (¢i) (D + C 4 verb) probably
perhaps he (is) eating if, heta ma ¢inupg
(E + A 4 verb) much already he hit her.

When peripherals I1 precede the verb,
peripherals 1 still follow the verb except
ilerative (4) which may precede the verb if
future (III) occurs. Enclitics occurring with
the peripherals may either precede the verb
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or follow it. heta fie-ta ¢jnypa feta (E + 4 +
III 4 verb + 3) they will hit him a lot again,
heta-ta Fejnypg fie/heta Fejnypg fe-ta (E 4
IIT + verb + 4)/(E + verb + 4 + III)
you will hit him a lot again.

Discontinuity of the verb phrase occurs
when some other word occurs between the
pre-peripheral and the verb. maeti tata
afae (negative + object 4 verb) I did not
find fire.

3. A complex verb phrase is defined as
one that has a complex verb nucleus. The
complex verb nucleus consists of one prin-
cipal and one or more auxiliary verbs or
two or more principal verbs with or without
auxiliary verbs. The auxiliary verbs usually
occur preceding the principal verb(s) and
express ability, desire, movement, etc. To-
gether with the principal verb(s) they form
a hypotactic construction. ipuefe ofapo
(Aux. + Prin.) he can do 1t, oipota ofiapo
(Aux. + Prin.) he wants to do it, oho oeka
(Aux. + Prin.) he goes to seek it. The two or
more principal verbs form a paratactic con-
struction. momiri g¥ifaha ofigti oefia (E +
Prin. + Prin. + Prin.) far he carried it he
planted it he left 1t.

The only auxiliary verb which follows the
final principal verb is the verb -i which marks
the continuative tense. og™ata ¢} (Prin. +
Aux.) he 1s walking.

Note now the contrast in the way of
marking each of the four tenses: -ka®u
drink (intoxicants) (intransitive), habitual—
ika®use he habitually drinks, past—oka®use
he used to drink, future—oka?u-ta he will
drink, continuative—oka®u of he is drinking.

Of the four tense markers only future and
continuative may occur together. oka’u-ta
01 he will be drinking.

Auxiliary verbs may occur as heads of
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verb phrases,”® in which case they act as
principal verbs. oipota oho (Aux. + Aux.-
Prin.) he wanted to go, oipota (Aux.-Prin.) he
wanted 1t.

Other words often occur within the com-
plex verb phrase, thus making it discontinu-
ous. The discontinuity usually occurs be-
tween auxiliary and principal verbs, be-
tween principal verbs (when not preceded
by auxiliary verbs), and between principal
and following auxiliary verbs. opa miéjae
feta omomo oefia (Aux. + object + Prin. +
Prin.) he completely threw out left the children
(mijéjge Teta = children), oho heini g¥efu
(Aux. + object 4+ Prin.) he went to bring his
sister, g”ifaha figng fupi gmotafi (Prin. +
locational phrase + Prin.) he look them de-
cewed them in the woods, Cefijmiai fiae mg
kuae iGikua pe ai (Prin. + 1 + A + loca-
tional phrase 4+ Aux.) 7 am already very
hungry in this cave.

When enclitics occur in a complex verb
phrase, they are attached to the first verb in
the series, or to maeti negative or peripherals
II order E if either occurs first. When pe-
ripherals occur they usually follow either the
first verb or the final principal verb. (When
hekuae 7t continues occurs as first verb it is
followed immediately only by the enclitic
I -fig. hekuae-fig oho he just continued going.
The other enclitics and the peripherals follow
the next verb.) When both enclitics and pe-
ripherals occur, they do so in the order
described in 2. aha-ta gmae (Aux. + IIT +
Prin.) I will go look, hekuae oho fie Pedro
oeka tata (Aux. + Aux. + 4 -+ subject -+
Prin. + object) Peter continued to go again
to seek fire, aha fie-ta pea koti gmae (Aux. +
4 + III + locational phrase + Prin.) I will
go again tn that direction to look.

13 Except for one impersonal auxiliary verb
hekuae it continues.



